
Article 1 

Life Cycle Assessment of Solar Façade Concepts 2 

Based on Transparent Insulation Materials  3 

Karel Struhala 1, Miroslav Čekon 1* and Richard Slávik 1 4 
1 Brno University of Technology, Faculty of Civil Engineering, AdMaS Centre, Brno, 602 00, Czech Republic 5 
* Correspondence: cekon.m@fce.vutbr.cz; Tel.: +420 541 148 078 6 
 7 

Abstract: Contemporary architects and the construction industry are trying to cope with increasing 8 
requirements concerning energy efficiency and environmental impact. One of the available options 9 
is the active utilization of energy gains from the environment, specifically solar energy gains. These 10 
gains can be utilized by, for example, solar walls and facades. The solar façade concept has been 11 
under development for more than a century. However, it hasn’t achieved widespread use for 12 
various reasons. Rather recently the concept was enhanced by the application of transparent 13 
insulation materials that have the potential to increase the efficiency of such façades. The presented 14 
study evaluates the environmental efficiency of 10 solar façade assemblies in the mild climate of the 15 
Czech Republic, Central Europe. The evaluated façade assemblies combine the principles of a solar 16 
wall with transparent insulation based on honeycomb and polycarbonate panels. The study applies 17 
Life-Cycle Assessment methodology to the calculation of environmental impacts related to the life 18 
cycle of the evaluated assemblies. The results indicate that even though there are several limiting 19 
factors, façade assemblies with transparent insulation have lower environmental impacts 20 
compared to a reference assembly with standard thermal insulation. The highest achieved 21 
difference is approx. 84% (in favour of the assembly with transparent insulation) during a 22 
modelled 50-year façade assembly service life. 23 

Keywords: Building, Environmental impacts, Façade, Life-Cycle Assessment, Transparent 24 
insulation, Low-emissivity 25 

 26 

1. Introduction 27 

It is generally accepted that technological advances combined with human population growth 28 
are having a significant impact on the environment, [1]. Some authors even compare it to the 29 
extinction events that wiped out most life forms on Earth in the past, [2]. Such statements may seem 30 
exaggerated; however, the slow change in the global climate (e.g. rising atmospheric CO2 levels, [3]) 31 
is well documented. To address the issue, scientists and politicians have introduced different 32 
“sustainable development” strategies such as Agenda 21 on sustainable construction [4] from 1999 33 
or the more recent proposals for a “circular economy” [5]. These strategies and the research that 34 
supports them (e.g. [6]) indicate that the building sector plays an important role in humanity’s quest 35 
for sustainability. The reason is the massive energy and resource consumption connected to 36 
buildings, along with waste production: buildings are responsible for approx. 40% of total energy 37 
consumption and waste production [7] and 25% of greenhouse gas emissions [8]. Reducing these 38 
negative impacts of the building industry is the aim of regulations like European directive 39 
2010/31/EU on the energy performance of buildings (EPBD, [9]). This (recently updated) directive 40 
states that all new buildings and major renovation projects in the EU should comply with 41 
“nearly-Zero Energy Building” (nZEB) standards after 2020. Literature such as [10] suggests that the 42 
introduction of nZEBs will result in a massive reduction in energy consumption (and a related 43 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

©  2018 by the author(s). Distributed under a Creative Commons CC BY license.

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://creativecommons.org/licenses/by/4.0/
http://dx.doi.org/10.3390/su10114212


reduction in environmental impact) in new buildings in comparison with buildings completed over 44 
the last few decades. 45 

In the past, the most efficient way to improve the energy consumption of buildings was to 46 
reduce their heating and ventilation energy losses. This was achieved through the addition of 47 
thermal insulation to the building’s envelope and the installation of HVAC systems with heat 48 
recovery [11]. This led to the development and propagation of highly efficient “passive” buildings 49 
[12]. However, literature such as [13] and [14] suggests that the potential for further savings in 50 
contemporary building designs is limited by increasing investment costs and embodied energy (as 51 
well as other environmental impacts). Therefore, the industry is looking for new solutions that will 52 
not only minimize energy losses, but also utilize the energy gains available on-site. Such solutions 53 
include the integration of renewable energy sources (RES) like photovoltaics [15] or solar thermal 54 
collectors [16] for on-site energy generation. Both of the previously mentioned references illustrate 55 
that the field of RES is already well established in the literature. Still, the research presented in this 56 
paper tries to bring a different perspective on one of the more straightforward ways of using 57 
renewable natural energy: the exploitation of solar energy gains with solar facades based on 58 
transparent insulation materials (TIMs). 59 

The direct utilization of solar gains in buildings is not new. The solar wall principles that 60 
originated in the late 19th century were further developed by F. Trombe in the 1960s [17]. The 61 
principle behind the solar wall (or the derived Trombe wall) is rather simple. It consists of a massive 62 
wall and a glass cover on the exterior side of the wall. The outer surface of the wall is painted black 63 
in order to absorb as much solar energy as possible. The air gap between the glazing and the wall 64 
serves as a buffer and insulation layer that reduces the heat losses of the structure, [18]. The solar 65 
wall concept has been studied and developed worldwide over the past few decades [19], when 66 
different studies developed solar walls in which TIMs replaced the original glazing elements [20]. 67 
The application of TIMs had already proven successful in the case of solar thermal collectors [21]. 68 
Their integration in facade elements is still in development, even though commercial products 69 
already exist [22].  70 

The presented study is part of a research project that strives to add to the existing knowledge in 71 
this developing field by evaluating the efficiency of various TIMs in combination with other novel 72 
elements and materials such as low-emissivity solar absorbers. 73 

The works referenced in the previous paragraph typically analyse the thermal characteristics 74 
and energy balance of TIMs or solar walls. There are only a few works describing the overall 75 
environmental impacts related to these structures and materials. For example, Dowson et al. [23] 76 
released a paper describing the environmental impacts related to transparent silica aerogel 77 
insulation. Stazi et al. [24] presented a study on the environmental impacts of a rather traditional 78 
solar wall concept. The applicability of the results of both studies is limited as they do not include 79 
comparisons with other available materials. One of the few studies that provide such a comparison 80 
was released by de Garcia et al. [25]. It shows that (under specified boundary conditions) the 81 
ventilated solar façade they tested has a 7.5% lower environmental impact compared to a standard 82 
façade. The study presented in this paper follows de Garcia’s example along with previous work by 83 
Čekon and Struhala [26], which evaluated the performance of two TIM-based solar walls and a 84 
standard façade with mineral wool insulation. The study provides an evaluation of the 85 
environmental impacts of 10 TIM-based façade assemblies and a comparison with a reference façade 86 
with ETICS. The evaluation focuses on the environmental impacts of the facade assemblies during 87 
their whole life cycle: from extraction of raw materials to final waste disposal. This should provide 88 
complex understanding of the performance of the concept. For this purpose, the study also includes 89 
dynamic simulations of the energy performance based on regional climate data. The energy 90 
performance is modelled for multiple orientations of the facades to the cardinal points to provide 91 
further insight into the efficiency of the described façade concepts. 92 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


2. Methodology and Materials 93 

The goal of the presented study is the evaluation of the environmental impacts of the 94 
TIM-based façade assemblies defined in sub-section 2.1. Life-Cycle Assessment (LCA) methodology 95 
is applied to achieve this goal. LCA methodology was conceived in the 1960s in the USA and several 96 
European countries, [27]. Currently it is well-established in literature (see e.g. [28]) as a method for 97 
complex multi-criteria evaluation of products. Its applications in building industry vary from 98 
evaluation of individual products or materials to evaluation of whole systems such as buildings or 99 
cities. It is especially useful in comparative studies, where it provides complex basis for the 100 
decision-making process, [29]. LCA principles are in international standards. Its general framework 101 
is defined in ISO 14040 [30]. The ISO standard is rather vague for the purposes of the presented 102 
study. Therefore, the boundary conditions and specifications for building-related LCAs described in 103 
European standards EN 15804 [31] and EN 15978 [32] are also applied in the study. 104 

2.1. Assessed façade assemblies 105 

A total of 11 different façade assemblies are evaluated in the presented study. The base of all the 106 
assemblies is a 200mm thick concrete wall with cement-based plaster on the interior surface. 107 
Concrete was selected for the tests due to its heat accumulation potential and heat transfer 108 
properties in order to maximize the solar gains of assemblies with TIMs (see Figure 1). Five different 109 
types of retail-available TIMs with different thermal and optical properties were selected for 110 
evaluation in the façade assemblies. Two types of retail-available solar absorbers are selected to 111 
enhance the efficiency of an overall thermal performance: common black paint (a non-selective solar 112 
absorber, nSSA) and aluminium-based sheet with low-emissivity coating (a selective solar absorber, 113 
SSA). This was already demonstrated by Čekon and Struhala [33], that significant influence of the 114 
type of solar absorber on the thermal performance of tested solar facades can be achieved, the 115 
difference up to 35% to 54% compared to standard black painted solar absorber. The evaluated 116 
façade assemblies are defined as follows: 117 

 Assembly 1 is a reference assembly combining a concrete wall with standard ETICS. The ETICS 118 
consists of 220mm expanded polystyrene (EPS), cement-based adhesive mortar and mineral 119 
exterior plaster. The assembly represents an envelope wall with a U-value of 0.21W∙m-2∙K-1that 120 
fulfils the thermal requirements in Czechia 121 
 Assembly 2 consists of a concrete wall, a nSSA, a 25mm air gap and a 40mm TIM system made 122 
of honeycomb polymethylmethacrylate PMMA (HP40; circular cells horizontally oriented, 123 
perpendicular to the wall; see Fig. 1a) encased between glass panes. 124 
 Assembly 3 consists of a concrete wall, a nSSA, a 25mm air gap and a 10mm polycarbonate TIM 125 
panel (PC10) with a single layer of vertically oriented square cells parallel to the wall surface (Fig. 126 
1b). 127 
 Assembly 4 consists of a concrete wall, a nSSA, a 25mm air gap and a 20mm polycarbonate TIM 128 
panel (PC20) with seven layers of vertically oriented square cells parallel to the wall surface (Fig. 129 
1c). 130 
 Assembly 5 consists of a concrete wall, a nSSA, a 25mm air gap and a 25mm polycarbonate TIM 131 
panel (PC25) with two layers of vertically oriented triangular cells parallel to the wall surface 132 
(Fig. 1d). 133 
 Assembly 6 consists of a concrete wall, a nSSA, a 25mm air gap and a 32mm polycarbonate TIM 134 
panel (PC32) with five layers of vertically oriented combined cells (three layers with square cells, 135 
two layers of triangular cells) parallel to the wall surface (Fig. 1e). 136 
 Assemblies 7 to 11 replace the nSSA with SSA. Otherwise the composition of these assemblies 137 
is the same as the composition of assemblies 2 to 6. 138 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


 139 

Figure 1: Schematic diagram of an evaluated facade assembly with TIM (left) and the individual 140 
types of TIMs applied in the evaluated façade assemblies (right): a) 40mm honeycomb cells (HP40), 141 
b) 10mm single-layer square cells (PC10), c) 20mm seven-layer square cells (PC20), d) 25mm 142 
two-layer triangular cells (PC25), e) 32mm five-layer combined cells (PC32). 143 

2.2. Boundary conditions of the assessment 144 

The study models the whole life cycle of façade assemblies from raw material extraction up 145 
until final waste disposal as defined by [32]. In particular, the study evaluates the environmental 146 
impacts related to 1m2 of each assembly during an estimated service life of 50 years. This service life 147 
is a common building design value in the Czech Republic. For the purposes of the assessment it is 148 
estimated that only the concrete load-bearing part of the wall would endure the whole 50-year 149 
service life. It is assumed that all of the other materials would have to be replaced once (after approx. 150 
25 years) due to their lower durability. This should more accurately model the real use of façade 151 
assemblies. 152 

Table 1: Life cycle of a building according to EN 15978 [32]. Stages and modules considered in the 153 
presented study are highlighted in boldface and grey background colour. 1 154 

A1 to A3 A4 to A5 B1 to B7 C1 to C4 

Product stage 
Construction 

proc. stage 
Use stage End of life stage 

A
1:

 R
aw

 m
at

er
ia

l s
up

pl
y 

A
2:

 T
ra

ns
po

rt
 

A
3:

 M
an

uf
ac

tu
ri

ng
 

A
4:

 T
ra

ns
po

rt
 

A
5:

 C
on

st
ru

ct
io

n 
/ I

ns
ta

lla
tio

n 
pr

oc
es

s 

B1
: U

se
 

B2
: M

ai
nt

en
an

ce
 

B3
: R

ep
ai

r 

B4
: R

ep
la

ce
m

en
t 

B5
: R

ef
ur

bi
sh

m
en

t 

B6
: O

pe
ra

tio
na

l e
ne

rg
y 

us
e 

B7
: O

pe
ra

tio
na

l w
at

er
 u

se
 

C
1:

 D
ec

on
st

ru
ct

io
n 

/ d
em

ol
iti

on
 

C
2:

 T
ra

ns
po

rt
 

C
3:

 W
at

er
 p

ro
ce

ss
in

g 

C
4:

 D
is

po
sa

l 

                                

D 
Benefits and loads beyond the system boundary (Reuse, Recovery and Recycling potential) 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


The life cycle of the façade assemblies is divided into four stages according to [32]: the Product 155 
stage, the Construction process stage, the Use stage and the End of life stage. There is a fifth stage 156 
defined in the standard that deals with the reuse and recycling of materials. However, this stage is 157 
omitted from the study to reduce possible information bias and distortion of the results. The 158 
standard further divides the four life cycle stages into 16 modules (see Table 1). Several of these 159 
modules are also omitted in the study: Modules A5 (Construction / installation process) and C1 160 
(Deconstruction / demolition) are omitted because it is expected that environmental impacts related 161 
to them would be negligible. Use of the façade assemblies should not cause any environmental 162 
impacts and therefore module B1 is omitted. No repair and maintenance is expected during the 163 
service life of the façade assemblies. It is expected that particular materials will be replaced at the 164 
end of their respective service lives. Therefore, modules B2, B3 and B5 are omitted. No operational 165 
water use and waste water processing is expected and so modules B7 and C3 are also omitted. 166 

2.3. Input data inventory 167 

Information regarding the materials applied in individual assemblies is obtained from 168 
laboratory measurements of purchased samples. More information about the measurements can be 169 
found in [34]. All the assemblies share the same base structure made of 480 kg of concrete for the 170 
purposes of this study. The interior of the structure is covered with 16 kg of cement plaster (see 171 
Figure 1). The amounts of materials required for the exterior layers of the façade assemblies (TIMs or 172 
ETICS) are described in Table 2. Based on Czech statistical data [35] it is expected that at the end of 173 
the modelled service life all materials will be landfilled. 174 

The transport of materials (in modules A2, A4, B4 and C2) is another important part of 175 
building-related LCA. Transport distances between a hypothetical building site in the city of Brno 176 
(Czech Republic) and the nearest production (waste management) facilities are considered in this 177 
study to represent a real-life transport scenario. The transport distances between the pertinent 178 
production facilities and Brno are: 591km for the HP40 TIM; 536km for the SSA; 324km for the PC10, 179 
PC20, PC25 and PC30 TIMs; 160km for nSSA; 32km for the plasters and mortars; 15km for the EPS; 180 
5km for the concrete. The nearest landfill is located 13km from the building site. 181 

Table 2: Materials considered in the evaluated façade assemblies. 182 

  EPS 
(ETICS) 

Cement 
mortar 
(ETICS) 

Mineral 
plaster 
(ETICS) 

SSA nSSA Polycarbonate 
(TIM) 

Glass 
cover 
(TIM) 

Assembly 1 6.6kg 8kg 16kg --- --- --- --- 
Assembly 2 --- --- --- --- 0.15kg 0.86kg 26kg 

Assembly 3 --- --- --- --- 0.15kg 1.7kg --- 

Assembly 4 --- --- --- --- 0.15kg 3.0kg --- 

Assembly 5 --- --- --- --- 0.15kg 3.4kg --- 

Assembly 6 --- --- --- --- 0.15kg 3.6kg --- 

Assembly 7 --- --- --- 0.81kg --- 0.86kg 26kg 

Assembly 8 --- --- --- 0.81kg --- 1.7kg --- 

Assembly 9 --- --- --- 0.81kg --- 3.0kg --- 

Assembly 10 --- --- --- 0.81kg --- 3.4kg --- 

Assembly 11 --- --- --- 0.81kg --- 3.6kg --- 

Table 3: The annual heating energy consumption of the evaluated façade assemblies. Three 183 
scenarios with different façade element orientations are considered. 184 

Energy 
consumption South (180°) East (90°) North-east (15°) 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


[kWh·m-2] 

Assembly 1 44.3 46.8 48.3 
Assembly 2 5.1 6.8 8.1 
Assembly 3 31.1 41.5 47.9 
Assembly 4 17.5 24.1 28.3 
Assembly 5 18.0 24.8 29.1 
Assembly 6 13.9 19.3 22.9 
Assembly 7 3.0 4.0 4.7 
Assembly 8 18.1 24.1 28.0 
Assembly 9 10.5 14.2 16.8 
Assembly 10 10.8 14.6 17.3 
Assembly 11 8.5 11.6 13.8 

Energy consumption is the most important part of the presented LCA as it has a major impact 185 
on the total results (see section 3.2). Energy consumed during the operation of the evaluated façade 186 
assemblies can be divided into two parts: (summer) cooling energy and (winter) heating energy. The 187 
presented study only includes the heating energy consumption (see Table 3) necessary to maintain 188 
an interior temperature of 20°C behind the evaluated façade assemblies. The reason is that previous 189 
research [26] has already indicated the problem of overheating in summer. This problem requires 190 
further technical solutions, such as shading or the application of phase-change materials [25]. Such 191 
additions are considered outside the scope of the presented study, which focuses solely on the 192 
façade assemblies described in sub-section 2.1. It should be noted that electricity is considered to be 193 
the energy source in the calculations. 194 

2.3.1. Calculation of energy consumption 195 

The basis for the evaluation of environmental impacts related to energy consumption is the 196 
dynamic numerical modelling of the energy performance of the façade assemblies. Dynamic 197 
modelling was selected as literature such as [36] suggests that it should provide the most accurate 198 
data for LCA. This type of modelling considers the thermal and spectral parameters of the evaluated 199 
materials that were obtained in the course of research for previous works ([34] and [37]) as well as 200 
varying exterior conditions. A summary of the material parameters is in Table 4. The numerical 201 
algorithm applied for the modelling is based on one-dimensional finite elements. The time 202 
discretization of the heat transfer problem uses a fully implicit scheme. The transition of heat in the 203 
solid non-transparent layers considers conductive heat transfer described by thermal conductivity, 204 
heat capacity and density. Further information about heat transfer modelling can be found in 205 
literature such as [38] or [39]. Transparent materials like polycarbonate panels are modelled as single 206 
one-dimensional finite elements with equivalent heat transfer properties and transparency to solar 207 
radiation. This means that solar radiation penetrates the material over a period of time proportional 208 
to its transparency. Air gaps are also modelled as single finite elements according to the method 209 
stated in ISO 6946 [40] with equivalent thermal resistance that takes into account radiative heat 210 
transfer affected by the emissivity of surfaces and a convective component influenced by the 211 
thickness of the air layer. A schematic diagram illustrating the numerical model is in Figure 2. 212 

The boundary conditions utilized for the numerical modelling of the energy performance of 213 
façade assemblies are as follows: The heat transfer coefficient equals 25 W∙m-2∙K-1 on the interior 214 
surface and 7 W∙m-2∙K-1 on the exterior surface of the modelled façade assemblies. These values are 215 
based on [41]. The exterior surface is also exposed to solar radiation, which is considered to be 216 
perpendicular to the surface for the purposes of the modelling. The incident solar radiation includes 217 
projected direct solar radiation, diffused solar radiation and reflected solar radiation from the 218 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


ground (see Figure 3-a), which are based on relations from the literature [41]. The total solar energy 219 
gains depend on the orientation of the façade assemblies to the cardinal directions, the solar 220 
absorption coefficient of particular materials and time (based on reference climate data). All possible 221 
orientations to the cardinal points were considered during the calculations (see Figure 3-b). This 222 
study presents three energy demand scenarios (see Table 3): a southward orientation (180° clockwise 223 
from north), an eastward orientation (90° clockwise from north) and a north-eastward orientation 224 
(30° clockwise from north). The southward orientation represents the state with maximum solar 225 
gains. Therefore, the heating energy consumption of the assemblies with TIM is the lowest. The 226 
eastward and north-eastward orientations are included in this study to evaluate the impact of 227 
reduced solar gains on the results. West-oriented facades had lower energy consumption in the 228 
calculations and so are not included in the presented study. The climate data considered in the 229 
calculations are based on a reference test year for Bratislava “SVK_Bratislava.118160_IWEC” in the 230 
hour time regime [42]. This was was selected as Bratislava (Slovakia) is geographically the closest 231 
city to the hypothetical construction site in Brno (Czechia) which has the necessary climate data. The 232 
time step used for the dynamic modelling is 600 seconds and intermediate values are linearly 233 
interpolated. A 20 °C interior temperature is considered for the purposes of the modelling. 234 

Table 4. Materials considered in the evaluated façade assemblies and their physical parameters. *: 235 
equivalent value. **: measured value according to [34] and [37]. 236 

 

Thickness 
[mm] 

Number 
of finite 
elements 

Density 
[kg·m-3] 

Thermal 
conductivit
y 
[W·m-1·K-1] 

Thermal 
capacity 
[kJ·kg-1·K-

1] 

Solar 
absorb
ance 

Thermal 
Emissivity 

Solar 
Transmi
ttance** 

Plaster 0.01 2 1600 0.75 840 0.6 0.93 --- 
Concrete 0.02 10 2400 1.47 1000 1 0.93 --- 
Polystyren
e 0.22 / 0.05 10 15 0.040* 1200 1 0.90 --- 

PC10 0.010 1 165* 0.065* 1000 0.2 0.84 0.82 
PC20 0.020 1 144.9* 0.051* 1000 0.2 0.84 0.62 
PC25 0.025 1 135.5* 0.066* 1000 0.2 0.84 0.63 
PC32 0.032 1 110.8* 0.059* 1000 0.2 0.84 0.53 
TIM 0.040 1 1000 0.040 1000 0.2 0.84 0.58 
nSSA --- --- --- --- --- 0.95 0.9 --- 
SSA --- --- --- --- --- 0.95 0.1 --- 

 237 
Figure 2: Calculation model based on the finite element method for: a) an opaque structure; b) a 238 
structure with a transparent element on the exterior side 239 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


 240 
Figure 3: Solar radiation model based on the finite element method; calculated reduction factor for 241 
the azimuth of the structure and time of year: a) for July; b) for January  242 

2.4. LCA calculation procedure and tools 243 

The LCA was performed in GaBi software equipped with the ecoinvent 2.0 [43] database. No 244 
data describing the performance and environmental impacts of the materials were available at the 245 
time of the study. As a result, the study is based on generic ecoinvent datasets. The available datasets 246 
do not describe all of the products and processes necessary for the assessment, which results in 247 
several simplifications in the LCA models: 248 

 There is no single dataset representing the TIMs. The PC10, PC20, PC25 and PC30 TIMs are 249 
represented by a combination of datasets, these being RER: polycarbonate, at plant (material) and 250 
RER: extrusion, plastic film (processing). The HP40 TIM includes both these datasets plus the 251 
dataset RER: flat glass, uncoated, at plant representing the glass casing. 252 
 There is also no single dataset representing the selective solar absorber. It is modelled as a 253 
combination of datasets, these being RER: aluminium, primary, at plant (base material), RER: sheet 254 
rolling, aluminium (processing) and SK: selective coating, aluminium sheet, nickel pigmented aluminium 255 
oxide (coating). 256 
 The transport of raw materials and incomplete products during the Product stage (especially 257 
module A2) is included in individual ecoinvent datasets. The A4 and C2 (partially also B4) 258 
modules describe the transport of final products and wastes respectively. For the purposes of the 259 
assessment it is assumed that the materials and wastes are transported by road with a truck or 260 
lorry. This is represented by the dataset RER: transport, lorry 3.5-16t, fleet average. 261 
 Electric energy in process CZ: Electricity - low voltage, at grid represents the energy consumed to 262 
cover heat losses or overheating through the evaluated façade assemblies. No dataset 263 
representing HVAC equipment is included in the assessment. 264 

The environmental impacts related to the evaluated façade assemblies are calculated using the 265 
CML2001 method (version Nov. 10). This method was developed by the Institute of Environmental 266 
Sciences, University of Leuven in the Netherlands, [29]. It includes 12 impact categories: Abiotic 267 
Depletion Potential of Elements (ADP-el), Abiotic Depletion Potential of Fossil Fuels (ADP-ff), 268 
Acidification Potential (AP), Eutrophication Potential (EP), Freshwater Aquatic Ecotoxicity Potential 269 
(FAETP), Global Warming Potential (GWP), Global Warming Potential Excluding Biogenic Carbon 270 
(GWP-ex), Human Toxicity Potential (HTP), Marine Aquatic Ecotoxicity Potential (MAETP), Ozone 271 
Layer Depletion Potential (ODP), Photochemical Ozone Creation Potential (POCP) and Terrestrial 272 
Ecotoxicity Potential (TETP). Normalization of the individual results is also applied (version Nov. 273 
10, EU25+3) to enable the aggregating of individual impact category results and increase the 274 
comprehensiveness of the study. 275 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


3. Results and Discussion 276 

The presentation of the LCA results is divided into two parts for increased clarity. This is due to 277 
the fact that the majority of environmental impacts are (according to the performed calculations) 278 
related to the electrical energy necessary to cover heat losses (see Figures 6, 7 and 8,). However 279 
literature such as [44] or [45] indicates the increasing importance of environmental impacts related to 280 
materials (embedded or embodied environmental impacts). Therefore, sub-section 3.1 focuses on 281 
“embodied” environmental impacts related to applied materials, their transport, replacement and 282 
waste processing (modules A1-A4, B4, C2 and C4, according to [32]). Overall environmental 283 
impacts, including energy consumption (module B6 according to [32]), are described and discussed 284 
in sub-section 3.2. 285 

3.1. Evaluation of material-related environmental impacts 286 

Table 5 and Figure 4 show embodied environmental impacts related to the production of 287 
materials (modules A1-A3 according to [32]) necessary for the construction of the evaluated façade 288 
assemblies. Table 5shows numerical results in all 12 impact categories. These results indicate that 289 
Assembly 3 has the fewest embodied environmental impacts connected with the production of 290 
necessary materials in modules A1-A3. On the other hand, the identification from Table 5 of the 291 
assembly with the highest amount of embodied environmental impacts in these modules is 292 
impossible as various assemblies have the worst results in individual impact categories. Assembly 7 293 
has the highest impacts in six impact categories. Reference Assembly 1 and Assembly 11 both have 294 
the highest embodied impacts in three categories. Overall the difference between the lowest and 295 
highest embodied environmental impacts in the modules varies between 29% (GWP and GWP-ex) 296 
and 89% (MAETP) in individual categories. The reasons for these differences are visible in Figure 4, 297 
which shows stacked normalized environmental impacts for modules A1-A3 of the evaluated 298 
assemblies. 299 

300 
Figure 4: Normalized embodied environmental impacts related to the production of materials in the 301 
assessed façade assemblies (modules A1-A3 according to EN 15978). 302 

Figure 4 indicates that the most notable difference in embodied environmental impacts occurs 303 
in the case of solar absorbers. It shows that the nSSA (black paint) has 99% lower environmental 304 
impact than the SSA made of metal with a selective coating. This is mostly due to the fact that the 305 
SSA contains aluminium sheet, whose production is environmentally demanding. In fact, the SSA is 306 
most demanding of all evaluated materials. In consequence, even if they represent a small fraction of 307 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


the building mass, they largely contribute to its total embodied energy [45]. The figure also shows 308 
that the HP40 TIM has an approx. 90% higher environmental impact than the remaining four 309 
evaluated TIMs (PC10, PC20, PC25 and PC32) due to its glass casing. Interestingly enough, the 310 
evaluated layer of polystyrene insulation also has higher environmental impacts than these four 311 
TIMs. Based on these facts it could be said that Assembly 3 has the lowest environmental impacts in 312 
modules A1-A3 due to combination of the nSSA with the PC10 (the lightest evaluated TIM). In 313 
comparison, Assembly 7 has the highest environmental impacts in this part as it combines the SSA 314 
with the glass-encased HP40. 315 

Life cycle modules A1-A3 represent only a part of the total embodied environmental impacts. 316 
These are shown in Figure 5. It is clear that the production of the original materials (modules A1-A3) 317 
and their replacements (module B4) is responsible for the majority of the overall environmental 318 
impacts. Even though the presented study included rather long transport distances, the 319 
environmental impacts related to transport are rather insignificant. Modules A4 (material transport) 320 
and C2 (waste transport) represent between 0.8% (Assembly 7) and 4.5% (Assembly 3) of the total 321 
embodied environmental impacts. This result implies that strategically placed production facilities 322 
could supply specialised goods like SSAs or TIMs for whole regions. Also, the environmental 323 
impacts connected with the landfilling of waste (module C4) are negligible: between 0.5% (Assembly 324 
7) and 3.3% (Assembly 3). Other waste processing options in the Czech Republic (e.g. recycling or 325 
incineration) have even lower environmental impacts according to the datasets in the ecoinvent 326 
database. Due to these facts, the overall tone of Figure 5 is similar to the results for A1-A3 in 327 
Figure 4. However, the fewest embodied impacts are still related to 3, while the highest amount of 328 
environmental impacts are connected with Assembly 7. This implies that production efficiency is the 329 
key to reducing the embodied environmental impacts of the evaluated materials. 330 

 331 

Figure 5: Normalized embodied environmental impacts related to the production of materials, the 332 
transport of materials, necessary replacements and waste management (modules A1-A4, B4, C2 and 333 
C4 according to [32]). 334 

 335 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


Table 5: Environmental impacts related to the production of materials included in the assessed façade assemblies (modules A1-A3 according to [32]). 336 

  
Assembly 

1 
Assembly 

2 
Assembly 

3 
Assembly 

4 
Assembly 

5 
Assembly 

6 
Assembly 

7 
Assembly 

8 
Assembly 

9 
Assembly 

10 
Assembly 

11 

ADP-el [kg Sb-Equiv.] 6.5E-04 2.2E-04 1.2E-04 1.4E-04 1.5E-04 1.5E-04 2.7E-04 1.8E-04 2.0E-04 2.0E-04 2.0E-04 
ADP-ff [MJ] 1.1E+00 8.0E-01 6.1E-01 7.3E-01 7.7E-01 7.9E-01 1.1E+00 8.8E-01 1.0E+00 1.0E+00 1.1E+00 
AP [kg SO2-Equiv.] 2.7E-01 3.8E-01 1.7E-01 2.1E-01 2.2E-01 2.3E-01 4.9E-01 2.8E-01 3.2E-01 3.3E-01 3.4E-01 
EP [kg 
Phosphate-Equiv.] 

5.0E-02 5.4E-02 3.6E-02 3.9E-02 4.0E-02 4.1E-02 6.4E-02 4.6E-02 4.9E-02 5.0E-02 5.1E-02 

FAETP [kg 
DCB-Equiv.] 

4.7E+00 3.4E+00 2.8E+00 3.0E+00 3.1E+00 3.1E+00 1.0E+01 9.7E+00 9.9E+00 1.0E+01 1.0E+01 

GWP [kg CO2-Equiv.] 1.0E+02 8.5E+01 7.7E+01 8.8E+01 9.1E+01 9.3E+01 1.0E+02 9.3E+01 1.0E+02 1.1E+02 1.1E+02 
GWP-ex [kg 
CO2-Equiv.] 

9.9E+01 8.4E+01 7.6E+01 8.7E+01 9.0E+01 9.2E+01 9.9E+01 9.2E+01 1.0E+02 1.1E+02 1.1E+02 

HTP [kg DCB-Equiv.] 1.5E+01 1.3E+01 8.5E+00 9.2E+00 9.4E+00 9.5E+00 1.9E+01 1.5E+01 1.6E+01 1.6E+01 1.6E+01 
MAETP [kg 
DCB-Equiv.] 

1.3E+04 3.3E+04 7.2E+03 8.1E+03 8.4E+03 8.5E+03 6.5E+04 3.9E+04 4.0E+04 4.0E+04 4.0E+04 

ODP [kg R11-Equiv.] 5.4E-06 5.5E-06 3.2E-06 3.2E-06 3.2E-06 3.2E-06 6.6E-06 4.3E-06 4.4E-06 4.4E-06 4.4E-06 
POCP [kg 
Ethene-Equiv.] 

8.1E-02 3.3E-02 2.2E-02 2.7E-02 2.8E-02 2.9E-02 4.1E-02 3.1E-02 3.5E-02 3.6E-02 3.7E-02 

TETP [kg DCB-Equiv.] 3.7E-01 2.9E-01 2.6E-01 3.0E-01 3.2E-01 3.2E-01 4.4E-01 4.0E-01 4.4E-01 4.6E-01 4.6E-01 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


3.2. Evaluation of overall environmental impacts 337 

The previous sub-section presented the embodied environmental impacts of the evaluated 338 
façade assemblies. This sub-section adds environmental impacts related to heating consumption 339 
during the modelled 50-year service life of the façade assemblies. The results for each of the cardinal 340 
orientations described in Table 3 are shown in Figures 6 to 8.  341 

These figures show that thanks to solar heat gains the heating energy consumption and 342 
interconnected environmental impacts are lower in all façade assemblies with TIMs compared to the 343 
reference assembly with ETICS. The difference varies depending on the scenario. When the 344 
southward orientation is considered, the highest environmental “savings” (83.6%) are achieved by 345 
Assembly 2, while the lowest savings (30.5%) are achieved by Assembly 3. When the eastward 346 
orientation is considered, the savings are reduced due to reduced solar energy gains. The highest 347 
savings (82.3%) are achieved by Assembly 7 and the lowest savings (12.5%) are achieved by 348 
Assembly 3. Similarly, when the north-eastward orientation is considered, the highest savings 349 
(81.5%) are again achieved by Assembly 7 and the lowest (2.2%) by Assembly 3. The reason for these 350 
results is the fact that the difference in thermal resistance between these assemblies plays an 351 
increasingly important role depending on the reduction of solar energy gains. In this regard the 352 
10mm thick single-layer PC10 TIM cannot compete with the 40mm thick honeycomb structure of the 353 
HP40. 354 

355 
Figure 6: Normalised environmental impacts of the whole 50-year life cycle of evaluated façade 356 
assemblies. The energy consumption represents the southward assembly orientation. 357 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


 358 

Figure 7: Normalised environmental impacts of the whole 50-year life cycle of evaluated façade 359 
assemblies. The energy consumption represents the eastward assembly orientation. 360 

 361 

Figure 8: Normalised environmental impacts of the whole 50-year life cycle of evaluated façade 362 
assemblies. The energy consumption represents the north-eastward assembly orientation. 363 

The results in Figures 6 to 8 also indicate the important role of the type of solar energy absorber. 364 
In general, the calculated heating energy consumption of the assemblies with the SSA is lower 365 
compared to the assemblies with the nSSA. This in turn means that these assemblies have lower 366 
environmental impacts. The average difference between the environmental impacts of assemblies 367 
with the SSA and the nSSA in all three scenarios is 29.7%. When considering a 50-year service life, 368 
the difference in energy-related environmental impacts easily outweighs the higher embodied 369 
environmental impacts related to the production of nSSA in most assemblies. The only exception is 370 
Assembly 2 with the HP40 and the SSA. It has the lowest environmental impacts when the 371 
southward façade assembly orientation is considered. However the difference between Assembly 372 
two and Assembly 7 (which placed second) is only 0.3%. Even in the other two scenarios the 373 
difference between Assemblies 2 and 7 is not high, even though Assembly 7 has 41% higher 374 
embodied environmental impacts. The total difference is 7.7% (in favour of Assembly 7) when 375 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


eastward orientation is considered, and 12.2% (in favour of Assembly 7) when north-eastward 376 
orientation is considered. 377 

4. Conclusions 378 

The LCA presented in this study shows the potential for the application of solar facades and 379 
TIMs. In contrast to other studies (e.g. [15]) this contribution evaluates the efficiency of façades using 380 
a multi-criteria approach combining energy performance and various environmental impacts. The 381 
results show that all 10 façade assemblies with TIMs have lower overall environmental impacts 382 
compared to a reference assembly with ETICS. Three factors influence the achieved reductions. The 383 
first is the orientation of the evaluated façade assemblies to the cardinal directions. The highest 384 
difference (up to 83.6% in favour of TIM-based Assembly 2 with the honeycomb TIM and nSSA) is 385 
achieved with south-oriented façade assemblies that utilize the highest solar energy gains. The 386 
difference decreases in accordance with a change in orientation to bring it closer to the north. 387 
However, even north-east-oriented façade assemblies with TIMs have lower environmental impacts 388 
than the reference assembly with ETICS. Another factor that influences the results is the selected 389 
solar absorber. The lower efficiency of the nSSA is connected with higher heating energy 390 
consumption. Therefore, even though the results show that the nSSA has 99% lower embodied 391 
environmental impact than the SSA, the SSA should be preferred in order to reduce environmental 392 
impacts. In addition, this could be significantly improved, when SSA would be based on 393 
non-aluminium backing material, e.g. paper or foil. The last factor that influences the results is the 394 
thermal performance of the TIMs. In this regard the glass-encased PMMA panel HP40 with its 395 
relatively dense honeycomb structure proved more efficient than the plain polycarbonate panels 396 
PC10, PC20, PC25 and PC32. 397 

While this study has shown the potential for the application of TIMs in solar walls, it has not 398 
covered all the issues connected with this field. Further research is therefore necessary. The aims of 399 
the future research will include the environmental impacts of cooling energy consumption, and the 400 
efficiency of different shading devices will be addressed as well to avoid possible overheating 401 
phenomena. Such study will hopefully provide a solution for the efficient application of TIM-based 402 
facades in the Czech Republic and surrounding regions. 403 
Acknowledgements: The presented study was supported by Czech Science Foundation project GA 16-02430Y 404 
“Contemporary concepts of climatically active solar facades integrating advanced material solutions” ". 405 
Authors’ Contributions: Karel Struhala analysed and described the environmental impacts of the façade 406 
assemblies, compiled the texts and prepared the draft of the manuscript; Miroslav Čekon conceived and 407 
designed the main concept of the presented research, contributed to the original texts of the manuscript and 408 
revised the manuscript draft; Richard Slávik proposed, performed and described the thermal and energy 409 
analysis of the façade assemblies described in the manuscript. 410 
Conflicts of Interest: The authors declare that no conflict of interest exists in connection with this paper. The 411 
funding sponsors had no role in the design of the study, nor in the collection, analysis, or interpretation of data, 412 
nor in the writing of the manuscript or the decision to publish the results. 413 

References 414 
[1] UN (2017), World Population Prospects: The 2017 Revision, Key Findings and Advance, United Nations, 415 
Department of Economic and Social Affairs, Population Division: New York, 2017, 53 p. 416 
[2] E. Kolbert (2014), The Sixth Extinction, An Unnatural History, Henry Holt and company: New York, 2014, 336 417 
p., ISBN: 978-0805092998 418 
[3]R. K. Pachauri, L. A. Meyer (2014), Climate Change 2014: Synthesis Report. Contribution of Working Groups I, II 419 
and III to the Fifth Assessment Report of the Intergovernmental Panel on Climate Change, IPCC: Geneva, 2014, 151 p. 420 
[4] CIB (1999), Agenda 21 on sustainable construction, International Council for Research and Innovation in 421 
Building and Construction (CIB): Rotterdam, 1999, 122 p. 422 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


 [5] J. Kirchherr, D. Reike, M. Hekkert (2017), Conceptualizing the circular economy: An analysis of 114 definitions, 423 
Resources Conservation and Recycling 127 (2017), pp. 221-232 424 
[6]A. Sev (2009), How can the construction industry contribute to sustainable development? A conceptual framework, 425 
Sustainable Development 17 (2009), pp. 161-173 426 
[7]Fraunhofer, I.S.I. (2009), Study on the Energy Savings Potentials in EU Member States, Candidate Countries and 427 
EEA Countries Final Report. Fraunhofer-Institute for Systems and Innovation Research: 428 
Karlsruhe/Grenoble/Rome/Vienna/Wuppertal, 2009, 337 p. 429 
[8] A. Kzlili, P. A. Fokaides (2017), Policy trends for the sustainability assessment of construction materials: A review, 430 
Sustainable Cities and Society 35 (2017), pp. 280-288 431 
[9] EC (2010), Directive 2010/31/EU of the European Parliament and of the Council of 19 Maz 2010 on the energy 432 
performance of buildings, Official Journal of the European Union 153 (2010), pp. 13-35 433 
[10] Oh, J.; Hong, T.; Kim, H.; An, J.; Jeong, K.; Koo, C. Advanced Strategies for Net-Zero Energy Building: 434 
Focused on the Early Phase and Usage Phase of a Building’s Life Cycle. Sustainability 2017, 9, 2272 435 
 [11] S. Guillén-Lambea, B. Rodríguez-Soria, J. M. Marín (2016), Review of European ventilation strategies to meet 436 
the cooling and heating demands of nearly zero energy buildings (nZEB)/Passivhaus. Comparison with the USA, 437 
Renewable and Sustainable Energy Reviews 62 (2016), pp. 561-574 438 
[12] X. Liang, Z. Wang, M. Royapoor, Q. Wu, T. Roskilly (2017), Comparison of building performance between 439 
Conventional House and Passive House in the UK, Energy Procedia 142 (2017), pp. 1823-1828 440 
[13] I. Zacà, D. D’Agostino, P. M. Congedo, C. Baglivo (2015), Assessment of cost-optimality and technical solutions 441 
in high performance multi-residential buildings in the Mediterranean area, Energy and Buildings 102 (2016), pp. 442 
250-265 443 
[14] T. Ekström, R. Bernardo, Å. Blomsterberg (2018), Cost-effective passive house renovation packages for Swedish 444 
single-family houses from the 1960s and 1970s, Energy and Buildings 161 (2018), pp. 89-102 445 
 [15] F. Favoino, F. Goia, M. Perino, V. Serra (2014), Experimental assessment of the energy performance of an 446 
advanced responsive multifunctional façade module, Energy and Buildings 68 (2014), pp. 647-659 447 
[16] I. Visa, M. Moldovan, M. Comsit, M. Neagoe, A. Duta (2017), Facades Integrated Solar-thermal Collectors – 448 
Challenges and Solutions, Energy Procedia 112 (2017), pp. 176-185 449 
[17] A. Denzer (2013), The Solar House: Pioneering Sustainable Design, Rizzoli: New York, 2013, 256 p. 450 
 [18] O. Saadatian, C.H. Lim, K. Sopian, E. Salleh (2013), A state of the art review of solar walls: Concepts and 451 
applications, Journal of Building Physics 37 (2013), pp. 55-79 452 
[19] H. Omrany, A. Ghaffarianhoseini, A. Ghaffarianhoseini, K. Raahemifar, J. Tookey (2016), Application of 453 
passive wall systems for improving the energy efficiency in buildings: a comprehensive review, Renewable and 454 
Sustainable Energy Reviews 62 (2016), pp. 1252-1269 455 
[20] I. L. Wong, P. C. Eames, R. S. Perrera (2007), A review of transparent insulation systems and the evaluation of 456 
payback period for building applications, Solar Energy 81 (2016), pp. 1058-1071 457 
[21] J. D. Osorio, A. Rivera-Alvarez, P. Girurugwiro, S. Yang, R. Hovsapian, J. C. Ordonez (2017), Integration of 458 
transparent insulation materials into solar collector devices, Solar Energy 147 (2016), pp. 8-21 459 
 [22] M. Casini (2016), Smart Buildings: Advanced Materials and Nanotechnology to Improve Energy-Efficiency and 460 
Environmental Performance, Elsevier: Cambridge, 2016, 363 p. 461 
[23] M. Dowson, M. Grogan, T. Birks, D. Harrison, S. Craig (2012), Streamlined life cycle assessment of transparent 462 
silica aerogel made by supercritical drying, Applied Energy 97 (2012), pp. 396-404 463 
[24] F. Stazi, A. Mastrucci, P. Munafò (2012), Life cycle assessment approach for the optimization of sustainable 464 
building envelopes: An application on solar wall systems, Building and Environment 58 (2012), pp. 278-288 465 
[25] A. de Garcia, L. Navarro, A. Castell, D. Boer, L. F. Cabeza (2014), Life cycle assessment of a ventilated facade 466 
with PCM in its air chamber, Solar Energy 104 (2014), pp. 115-123 467 
[26] M. Čekon, K. Struhala, Thermal, energy and life-cycle aspects of a transparent insulation façade a case 468 
study, IOP Conference Series: Materials Science and Engineering, 415 (2018), 012019 469 
[27] R. G. Hunt, W. E. Franklin, R. G. Hunt (1996), LCA – How it came about – Personal reflections on the origin and 470 
the development of LCA in the USA, International Journal of Life Cycle Assessment 1 (1996), pp. 4-7 471 
[28] I. Boustead (1996), LCA - How it came about: The Beginning in the UK, International Journal of Life Cycle 472 
Assessment 1 (1996), pp. 147-150 473 
[29] H. Baumann, A.-M. Tilman (2004), The Hitch Hiker's Guide to LCA, An orientation in life cycle assessment 474 
methodology and application, Studentlitteratur AB: Lund, 2004, 20 p. 475 
[30] ISO (2006), Environmental management – Life cycle assessment – Principles and framework, ISO 14040, 476 
International Organization for Standardization (ISO): Geneva, 2006, 20 p. 477 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212


[31] CEN (2012), Sustainability of construction works – Environmental product declarations – Core rules for the product 478 
category of construction products, EN 15804, European Committee for Standardization (CEN): Brussels, 2012, 84 p. 479 
[32] CEN (2011), Sustainability of construction works – Assessment of environmental performance of buildings – 480 
Calculation method, EN 15978, European Committee for Standardization (CEN): Brussels, 2011, 84 p. 481 
[33] M. Čekon, K. Struhala, Polycarbonate multi-wall panels integrated in multi-layer solar façade concepts, 482 
IOP Conference Series: Materials Science and Engineering, 415, (2018), 012055 [34] M. Čekon, R. Slávik, J. Zach 483 
(2017), Experimental Analysis of Transparent Insulation Based on Polycarbonate Multi-Wall Systems: Thermal and 484 
Optical Performance, Energy Procedia 132 (2017), pp. 502-507 485 
[35] CENIA (2016), Zpráva o životním prostředí České Republiky 2015 (Environmental Report of the Czech Republic 486 
2015), Czech Environmental Information Agency (CENIA): Prague, 2016, 269 p. (in Czech) 487 
[36] L. Yaolin, S. Zhou, W. Yang, C.-Q. Li (2018), Design Optimization Considering Variable Thermal Mass 488 
Insulation, Absorptance of Solar Radiation, and Glazing Ratio Using a Prediction Model and Genetic Algorithm, 489 
Sustainability 10 (2018), pp. 336-351 490 
[37] M. Čekon, R. Slávik, A Non-Ventilated Solar Façade Concept Based on Selective and Transparent 491 
Insulation Material Integration: An Experimental Study. Energies 2017, 10, 815. 492 
[38] Pradip Majumdar. Computational methods for heat and mass transfer. New York: Taylor & Francis 493 
Group, LLC, 2005. ISBN: 1-56032-994-7. 494 
[39] Roland W. Lewis, Perumal Nithiarasu and, Kankanhalli N. Seetharamu. Fundamentals of The Finite 495 
Element Method for Heat and Fluid Flow. Chichester: John Wiley & Sons, Ltd, 2004. ISBN 0-470-84788-3. 496 
[40] ISO (2017), Building components and building elements — Thermal resistance and thermal transmittance 497 
— Calculation method, ISO 6946, International Organization for Standardization (ISO): Geneva, 2017, 40 p. 498 
[41] Hugo Hens, Applied Building Physics. Berlin : Wilhelm Ernst & Sohn, 2011. ISBN: 978-3-433-02962-6. 499 
[42] https://energyplus.net/weather-location/europe_wmo_region_6/SVK//SVK_Bratislava.118160_IWEC  500 
[43] R. Frischknecht, N. Jungbluth, H.-J. Althaus, G. Doka, R. Dones, R. Hischier, S. Hellweg, T. Nemecek, G. 501 
Rebitzer, M. Spielmann (2007), Overview and Methodology. Final report ecoinvent data v2.0, Swiss Centre for Life 502 
Cycle Inventories: Dübendorf, 2007, 77 p. 503 
[44] Y. Dutil, D. Rousse, G. Quesada (2011), Sustainable Building: An Ever Evolving Target, Sustainability 3(2011), 504 
pp. 443-464 505 
[45] S. Roh, S. Tae, S. Joon Suk, G. Ford, (2017), Evaluating the embodied environmental impacts of major building 506 
tasks and materials of apartment buildings in Korea, Renewable and Sustainable Energy Reviews 73 (2017), pp. 507 
135-144  508 

Preprints (www.preprints.org)  |  NOT PEER-REVIEWED  |  Posted: 12 November 2018                   doi:10.20944/preprints201811.0275.v1

Peer-reviewed version available at Sustainability 2018, 10, 4212; doi:10.3390/su10114212

http://dx.doi.org/10.20944/preprints201811.0275.v1
http://dx.doi.org/10.3390/su10114212

